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Solution set = {5%}

Q.1. Find two consecutive positive odd numbers such that
the sum of their squares is 74,

Sol. Let 1% odd number =2x + |
2™ odd number = 2x + 3

According to statement
Qx+1) +(2x+3)’ =74
4 +4x+1+4x° +12x+9 =74
8x" +16x+10-74 =0
§x* +16x-64 =0
«* +2x-8 =0 (Divided by 8)
x’+4x-2x-8 =0 .

(v’ +4x)-(2x+8) =0
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vy e 3y oedy -0
(v ¢+ A =2y - D

I 1-2-10

then Iﬁ‘,

amdf v d -0

-

then ‘L_L"_.“!a

when v - 2 then ¥ number = 2v ¢ |

and 2 number = Q¢+ )

=22 ¢}
4¢3
-7

l*'cquurd odd number = 5,7
Q.2. bind two consecutive positive even numbers such
that the sum of their squares is 164,

S‘\;] I.L't l - numh.c( - 3_!
:M number = 2y ¢ 2
According o the statement
(20) +(2c+2) =164

di" s dy 480 ed o 64
——__—______-—-——lﬂ#
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Bx' +8v+d-164 -
8x' +8x-160 =

¥ +x-20 =9 (Divided by 8)
X' +5x-4x-20 - 0
(x" +5x)~(4x+ 20) =g
xX(x+5)-4(x+5)=0
(x+5Kx-4)=0
If x-4=0

then | x=4

and if x+5=0

then X=2

when x =4, then 1 number = 2x
=2(4)=8 -
And 2" number = 2x + 2
=2d)+2=8+42=10

Required even number =8, 10
Q.3. The difference of two numbers is 9 and the product
of ihe numbers is 162. Find the two numbers.

Sol. Let 1 number =x
2 number =x + 9

According 1o the statement
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[

Iy

V4 Oy 162
SRR IO P
v +v-162 . §]
Vo ISv =0y - 162 = ()

IR -(Ov 4102y

(v ¢ I8) =9y + IR) = 0

(x=9Hx +18) =0

if xr—9=90

and f x+ 18 =0
x = —18
9. then 1M number =y = 9

2™ number = T+ 9

-0 +9=|8§

Required numbers = | 9,18

If x =-1]R
1™ number = x = _ 18

i

4
2™ number =x+ 9

=-18+9=_9

Required numbers = .-13.—‘)|
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Q4. The basce and height of a triangle arc (x + 3)cm and

(2x = S)em respectively. If the arca of the triangle is
20c¢m?, find x.

So). Length of base = x + 3cm
Length of altitude = 2x - Sem
Arcaof A = 20cm?

According to the statement
(x+3)2x=-5) _

= 20
2
Areaof A = Bx 4
2
2.\'34".\"’[5 ._:20
2

2x* +x-15 =2 x20
2’ +x-15 =40
2,\']+.r-|5—40 = ()
| 2x' +x-55 =0
3 +11x-10x-55 =0
(2x" +11x)=(10x+55) =
M2x+ 1) =-5(2x+11)=0
(1r+ll)(x~5):“-0
If x-5=0

then x=35

Therefore, Length of base = x * 3
=5+3
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= Bem

Length of altitude = 2x -5

and i f

then

=2{5)-5
= 10-5
= S¢m
2x+ 11 =0
2x=-11
11
X =——
2

Cancelling due to negativity.

Q.5. The perimeter and area of a rectangle are 22cm and
30cm?® respectively. Find the length and breadth of the

rectangle.

Sol. Rectangle's penimeter

]

22cm

!

Rectanglc's area = 30cm?

Let, Length of rectangle = xcm
, 30
Breadth of rectangle = — ¢m
X

Perimeter = (length + breadth) = 2

22 = [-3—0+.r]!2

X

11

30
X+ . (Divided by 2)

)

11x = 30+ x" (Muliiplying by x)

0=30+x"=1lx
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X =11y 430 = 0

X' =5y =6x+30 =
(v =5x) = (6x-130) - 0
X(x=5)=-6(x=5)=0
(x=5Nx-6)=0

If x-5=0

then XxX=35

Length of rectangle = x

= S5cm

and  Breadth of rectangle = EL

X
230

5

= 6cm
Length of rectangle = 5cm
Breadth of rectangle = 6ecm

andf x—-6=10

x=0

then

Length of rectangle = x
= 6cm
30
x
- 2
6

= S5c¢cm

and Breadth of rectangle =
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Length of rectangle = 6cm’

So, Breadth of rectangle = Sem

Q.6. The product of two consecutive positive numbers is
156. Find the numbers,

Sol. Let, | I* number = x

2 humber = x + |

According to the statement

()x+1) = 156
X +Xx =156
X +x-156 = ¢

X +13x=12x-156 = g
(.r1+l3.r)-(|2x+156) =0
x(x + I3)-12(_r:+13)=0

| (x=12)x+13)=0

If x-12=20

then x=12

Required numbers = x, x + |

=12,12+1

=1 12,13

and if x+13=0

then lx==13

- Required numbers = x,x + 1
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= [=13.-1.

B

Q.7. Find two consceutive positive odd numbers given

o
that the difference between their reciprocals is (;
).
Sol. Supposcthat 1 number = 2x + |
2™ number = 2x + 3
According 1o given condition
1 1 2
2y+1 2x+3 63
Multiplying by (2x + 1 )}(2x + 3)63)
I |
O 2<FTH2x +3)X——— =063 2x + D 2aFI) X ———

B
Tox63(2x HIN2x 4 3)
63

i

63(2x + 3)=63(2x+ 1) = 2(2x + 1 2x + 3)
1267 +189-]267—063 = 2(4x" +8x+3)

126 = 8x" +16x+6

8x- +16x+6-126 =0

Byl +16x-120 =0 _
x*+2x-15 =0 (Dividing by 8)

X 4+5x-3x-15 =0

(x' +5x)=(3x+15) =0

xx+5)-3x+5) = 0
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(x+30x=3)=10

I x=3=0

then x=]

)

Required numbers:  Ist number = 2 + 1 required numbers

2(3) + 1

h

=6+1

\st number =7

" 2nd number = 2x + 3

=2(3)+3
=6+3
2nd number =9|
and 1l x+5=10
then r==5

Cancelling due to negativity.
Q.8. The sum of the two positive number is 12 and the
sum of whose squarcs is 80. Find the numbers,

Sol.© Suppose that  Ist number = x

2nd number = |2 — x
Accdrding to given condition
(.\'): + “2 -.\"): = 80

X414+ X7 - 24x =80
2x"-24r+144-80 =0
2x' -24x+64 =0

¥' =12x+32 =0 (Dividing by 2)
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X —4.1‘~8xi+~32 =0

Xx—-4)-8(x-4)=0

(x—4)(x-8) =0

If *x-4=0

then

Required numbers:  1st number = [ X =4

y=4q

2nd number = 12 — x

2nd number =12 -4 = §

and 1f

x—8 =0

x=28

Henee |1t number = 8

2nd number

Il
ro

|
-

2nd number

Il
4

Required numbers = §, 4

or  Required numbers = 4, 8
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